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(c) Explain the role of electronegativit
Pearson-Pauling paradox?
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(@) Write the Lewis Concept of acids and bases. [2%)
F Ud R A g drauron iR |
® L hydrolysis easily while Lif does not. 2]
Lil &1 Muar ¥ o smued ar & ueg Lif &1 T8l |
() Name the metal which exists as sulphide ore in nature. 2]
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ig UNIT-11 / g1g-11
+ (@ Why the value of CFSE for [Mn(H,0),]*? complex is zero? (2]
[Mn(H,0)¢]*? ¥qa &1 CFSE &1 719 ¥ @i 87
(b) What is mainly t», and eg orbitals? (2]
ty T eg DD ¥ FT AL 87
(©)  What is charge transfer spectra? [2V3]
AT RITRYT T FT 27
OR / 3perar
. (a) Derive relation between Us and peff. [2v4]

il s TAT peff & FEO T i g |
C{E (b)  How does °F term split by L-S coupling?

» SFug L-S g &N foa uar faenfora et 82 e
Lg (©) What is Curie-Weiss law? 2]
- T Prm = &7
UNIT-II1 / s&1s-111
5. (@  Give Orgel diagram of d' and d’ system for octahedral complex. 2va)
ICHADT Gl & forg d' gd a3 3ifiter v AR |
(b)  IfL=3and S=1, then what is the term symbol? 21
Ify L=37 S=1 8 o Ug Wiid ¥ BT |
(c) What is Laporte orbital selection rule? 2]
o AU Hed T w4 8?
o OR /3l
. g (@) Why EDTA forms stable complex with Ca*?ions? (2]
e Ca*? ot @ w2 EDTA ®il §qa qi a1 87
()  What is trans effect? Give one of it applications. (21
T Y19 99T 87 3HET TS IUAT €Y |
(©)  What do you mean by labile and inert complexes? Explain with suitable
example. , (2]
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UNIT-1v / PRIV
1 (@  Whatis Ziegler-

Natta Catalyst? [2]
SR et S a7
(®)  Which organometalijc compound is used as a catalyst in homogenous
o hydrogenation process? [2]
;:}l: VT SESISGR 5557 Bren wrenfis @ s 3 o &
O ww e
7 ()  Whatis 18 & rule? How js applied to metal carbonyls? [2V4]
18éﬁWW§?H@$@ﬁaﬁWﬁﬂﬁﬁmﬁﬂT%‘?
OR / 3termar
8. Explain the phenomenon of nitrogen fixation. (M, - fe Protein E, protein [6%2]
Nitrogenase)
TEEIo ReiaRo & wbw 1 wemed | (Mo, - fe SIEF B, 01EF A8efor)
- UNIT-V /3&15-V
9, %;What arf-: Phasphazenes? Describe their preparation and properties. T [2Ya+2V2+2=T]
O GRETIT T ¥ g T B AR T o 1 vk R
- OR /serar
10.

Define structural aspects of silicones and specific properties with application. [2V2+2V2+2=T]
Rifere= &1 SaaTeTs Tee] Td AR IO &1 I HIRTY SguaT & Aqre |
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